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A& &h 1 A 2 H 3 _H 4 A 5 H
b BRI IR BOE B RN B B R B R K RS | R bR
(%) (b)) | (45) (b)) | (55) (b)) | (45) (b)) | (55) (b)) | (4§) (b))
3| 1,501 2,614,992| 118 165,252 123 213,564 140 305,959 136|  180,111| 126| 232,554
& B b 73] 963,921 3 36,164 6 72,021 9| 144,482 5 42,284 6| 104,383
il 1,428 1,651,071| 115( 129,088 117|  141,543| 131|  161,477| 131 137,827 120 128,171
30,000 |3 21| 671,556 1 32,370 1 32,086 4| 128,651 1 32,388 2 63,854
®wob ropw 21| 671,556 1 32,370 1 32,086 4| 128,651 1 32,388 2 63,854
LA = pasil 0 0
20,000 |3 6| 169,983 0 0 1 29,105 0 0 0 0 1 29,104
EC N T 6| 169,983 1 29,105 1 29,104
LA = pasil 0 0
10,000 |3 26| 321,854 1 12,379 2 24,758 2 24,758 2 24,758 2 24,758
S NN T 0 0
2 bpuil 26| 321,854 1 12,379 2 24,758 2 24,758 2 24,758 2 24,758
6,000 |3 19| 174,485 2 19,914 1 9,957 3 26,295 2 19,914 1 6,544
S NN T 1 6,381 1 6,381
2 bpuil 18] 168,104 2 19,914 1 9,957 2 19,914 2 19,914 1 6,544
3,000 |3| 130 549,606 12 46,532 15 60,423 15 62,344 9 38,419 12 51,021
N Y Y 50,951 1 4,528 1 4,528 1 4,528 2 9,203
2 bpuil  119] 498,655 12 46,532 14 55,895 14 57,816 8 33,891 10 41,818
1,000 [l 56| 109,683 2 3,794 7 12,620 7 11,894 5 9,004 2 3,999
Woob v 34 65,050 2 3,794 3 6,302 3 4,922 3 5,368 1 2,222
2 pag 22 44,633 4 6,318 4 6,972 2 3,636 1 1,777
700 [z| 126/ 109,835 10 8,736 6 5,241 6 5,735 9 7,733 12 9,980
500 FAb> i 0 0
PL b opuil 126]  109,835] 10 8,736 6 5,241 6 5,735 9 7,733 12 9,980
500 |zt 39 24,168 3 1,844 2 1,396 3 1,807 4 2,287 4 2,598
b FRRY phi 0 0
PL b opusl 39 24,168 3 1,844 2 1,396 3 1,807 4 2,287 4 2,598
3| 165  134,003] 13 10,580 8 6,637 9 7,542 13 10,020 16 12,578
Lk R pha 0 0 0 0 0 0 0 0 0 0 0 0
Pail 165  134,003] 13 10,580 8 6,637 9 7,542 13 10,020] 16 12,578
100 |3]1,073]  483,745| 87 39,683| 86 37,958| 99 44,456| 104 45,608 90 40,696
S NN T 0 0
2 - pui] 1,073 483,745 87 39,683 86 37,958| 99 44,456| 104 45,608 90 40,696
5 | 5 77 0 0 2 20 1 19 0 0 0 0
S NN T 0 0
2 Pl 5 77 2 20 1 19
HEpktt (%) [100.0|  100.0 7.9 6.3 8.2 8.2 9.3 11.7 9.1 6.9 8.4 8.9
RTAEAHEMI | 1,497 2,766,620| 117| 213,866 128| 227,969 137|  221,997| 135 243,389 106| 213,822
BIAETE (%) [100.3| 94,5 100.9| 77.3 96.1 93.7  [102.2| 137.8 [100.7| 74.0 |118.9| 108.8
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Aopl 6 H 7 H 8 A 9 H 10 A 11 A 12 A
b BRI RN R | R RN R RN B RN KRN K
(£&) (b)) | (45) (b)) | (55) (b)) | (45) (b)) | (55) (b)) | (4§) (b)) | (45) (b))
3| 135 235,949 128 208,926 121| 201,451 105  227,127| 124| 209,860 113|  231,462| 132| 202,777
& 7T b 9] 108,380 4 68,288 5 65,182 71 104,241 7 74,093 8| 102,349 4 42,054
aifl 126 127,569| 124| 140,638 116| 136,269 98] 122,886 117|  135,767| 105]  129,113] 128| 160,723
30,000 |3 3 94,850 2 64,136 1 32,474 2 64,152 2 61,802 1 32,415 1 32,378
EC N T 3 94,850 2 64,136 1 32,474 2 64,152 2 61,802 1 32,415 1 32,378
LA £ pai]
20,000 |z 0 0 0 0 1 24,386 1 29,105 0 0 2 58,283 0 0
EC N T 1 24,386 1 29,105 2 58,283
LA £ pai]
10,000 |z 3 37,137 2 24,758 2 24,758 3 37,137 2 24,758 2 24,758 3 37,137
S NN T
2L - ] 3 37,137 2 24,758 2 24,758 3 37,137 2 24,758 2 24,758 3 37,137
6,000 |3 0 0 3 27,723 1 9,957 1 9,957 1 9,957 2 16,501 2 17,766
S NN T
2 = Pl 3 27,723 1 9,957 1 9,957 1 9,957 2 16,501 2 17,766
3,000 |3 7 28,968 6 25,889 11 49,620 9 37,874 12 52,202| 10 44,031 12 52,283
EC N T 1 4,528 1 4,528 1 4,528 1 4,528 1 4,528 1 5,524
2L = ] 6 24,440 6 25,889] 10 45,092 8 33,346] 11 47,674 9 39,503 11 46,759
1,000 |z 8 14,747 4 8,973 4 8,908 3 6,456 6 12,758 5 10,108 3 6,422
EC N T 5 9,002 2 4,152 2 3,794 3 6,456 4 7,763 4 7,123 2 4,152
2L = ] 3 5,745 2 4,821 2 5,114 2 4,995 1 2,985 1 2,270
700 |zt 18 15,424 14 13,228 12 10,960 10 8,173 7 5,951 7 5,984 15 12,690
500 FAb> i
PLF opus 18 15,424 14 13,228] 12 10,960 10 8,173 5,951 7 5984 15 12,690
500 |zt 6 3,617 2 1,287 0 0 1 699 4 2,543 7 4,229 3 1,861
ko] Fb b
DL b e 6 3,617 2 1,287 1 699 4 2,543 7 4,229 3 1,861
£l 24 19,041 16 14,515 12 10,960 11 8,872| 11 8,494 14 10,213 18 14,551
SLE[ FE b 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Pl 24 19,041 16 14,515| 12 10,960 11 8,872 11 8,494 14 10,213 18 14,551
100 |z 90 41,206 94 42,913 89 40,388 75 33,574| 90 39,889 77 35,153 92 42,221
S NN T
2L pas 90 41,206 94 42,913] 89 40,388 75 33,574] 90 39,889 77 35,153 92 42,221
5 | 0 0 1 19 0 0 0 0 0 0 0 0 1 19
S NN T
A = pasil 1 19 1 19
Rt (%) | 9.0 9.0 8.5 8.0 8.1 7.7 7.0 8.7 8.3 8.0 7.5 8.9 8.8 7.8
ATER ARG 114  215,718] 111 200,822 126  228,651| 119 264,860 122|  224,793| 139 231,904 143| 278,829
BIAERFEE (%) [118.4| 109.4  [115.3| 104.0 | 96.0 88.1 88.2 85.8 101.6  93.4 81.3 99.8 92.3 72.7
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